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ECONOMICS
( Major )
Paper : 1.1
( Microeconomics—I )
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following :
were fRAPTEd e o

(@) Choose the correct option : 1x5=5
wm R TR e

(i) The problem of ‘scarcity and choice’
mainly give rise to

TRl W O TR A e
s &

1. problems of underdevelopment
B ERERRR

A7/371 ( Turn Over )



(2) (3)

2. economic problems

FAASS T

2. in the short-run only

(9] IFEO
3. non-economic problems 3. Btk if ihe Shost-run. and the
S-S AT T long-run
4. None of the above | THIE S I TeHce
@99 OIS T - 4. None of the above
() If the indifference curve is a 9o |1 T
downward sloping straight line, it ¥
means that the goods are (iv) A linearly homogeneous production
fRers @woE A A EAR RA function depicts '
@ =, (oA X &/ @ TR SRECARE STHCANAR S Foie bR P
1. perfect substitutes 1. increasing returns to scale
1 s ' TR TR AT
2. perfect complementaries 2. decreasing returns to scale
ofef 2R FRZP TG efore
3. used in equal amount 3. constant returns to scale
SHARTITS T SHFRE TR Afens
4. None of the above 4. All of the above
89[q OIS = : 894 HHIRCH20!
() Fixed cost is found ;
B T (v) At the lowest point of the AC curve
5% 979 (AC) @9 fwrey R '
1. in the long-run only 1. SHEs S
: ‘is greater than
' i 75 T IR TS @R =W
. : )
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(4)

2. AC is less than MC
1T I AIfEF Il o9 =

3. AC is equal to MC
SIS 79 AT TR 50 =

4. AC is double the MC
e 4 21T IR 789 =

(b) What is Giffen good? 1
forces @y 6 2

(c) Mention one limitation of indifference
curve analysis. 1l
fReors @4 RoraE 961 Saraer Sy 34 |

(d) Define sunk cost. 1
faRes /srHm IR ke fr |

(e) What is production possibility curve? 1

TeoAMe SR @31 62

() What is cross elasticity of demand? 1
© vz fote e 2
2. Answer the following questions : 2x5=10
O] PR ed fod

(@) What is static equilibrium?
' e sl {3 2
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(b)

(c)

(d)

(e)

(5)

What is income .effect?

o R & 2

Draw the Engel curve for an inferior
good.

198 ¥ 3T 9OF GUGE @3 A 41 |

What is factor elasticity of substitution?
T eifsTame Bfewree 9

What are the conditions of profit
maximization in terms of marginal
revenue and marginal cost?

afes o U Af T TgEe  d@©
ST TS0 & 1 9

3. Answer the following questions (any four :

5x4=20

O PR Tes o (R et wifk)

(a)

(b)

A7/371

Distinguish between stable and unstable
equilibriums.

ﬂf&aww@amwm@rﬁcﬁwn

Briefly explain the applications of the
concept of consumer’s surplus.

STeR WWWmmwwﬁi
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(c)

. (@)

(e)

(6)

Why two indifference curves cannot
intersect? Explain.

woF s @R Ry ol e w2
N1 4 |

Draw the TFC, TVC, AVC and AFC
curves.

7 B @, P oReeTm e 7w, 9% ARasane
I G TS B I @A 41 |

What are the different types of returns to
scale? Explain.

fRifSn oeme Tam afererz & 7 2 amm <

Explain the relationship among AR, MR
and elasticity of demand.

ST uE, ke wE e SRR Riewrrer
] =0 17 47 |

4. Answer the following questions (any foun :
10x4=40

o 2P Set fordt (R GRIel BifY)

(@)

A7/371

Discuss some basic market models
indicating whether they work through
the market or interfere with the market.

G @oft IREFAMT FCE G RTS8

R @ Rz fgue IR @@ iy

SICEATRAT <541 |

( Continued )

10

(b)

(c)

@)

(e)

AT7/371

(7))

Discuss the properties of indifference
curves with diagrams.

foqq e RRers @R EAFEPTR STl
34 |

Discuss the derivation of demand curve
from the price consumption curve.

™ Sorelsl @YR [ oI @9 M Sferean
R, HICSA0AT 47 |

Discuss the procedure of derivation of
Engel curve.

UG (IR Bferedq ROBT ST 1 |

Discuss critically the law of variable
proportions.

MRS Sreme RRGT  SHIETA TR
S < |

What is least cost combination of inputs?
Discuss how least cost combination of
inputs is attained with the help of
isoquants and isocost lines.

AN TR R 2 TG @ W

I (AR TS I T JERF IRl
S 41 W, ST T4 |

10

10

2+8=10
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(8)

(g) Discuss the derivation of production
possibility curve from contract curves. 10

A @R A R BeE R @
Sforear =, =cEm 40 )

(h) Discuss the nature of the short-run and
long-run average cost curves. Why is the
long-run average cost curve flatter than
the short-run average cost curve? 7+3=10

TR WE LA 8 I QIR oS
A 9 | ZIIAA T8 I @ISLF LI
e I @ [ R IT|?

* %k %
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